Separation of voriables

$$u(x, t) = \phi(x)G(t),$$
substitute
$$(2.3.4)$$

$$\frac{\partial u}{\partial t} = k \frac{\partial^2 u}{\partial z^2}$$

$$\frac{\partial u}{\partial t} = k \frac{\partial^2 u}{\partial z^2},$$

$$\frac{\partial u}{\partial t} = k \frac{\partial u}{\partial z^2},$$

$$\frac{\partial u}{\partial z^2} = \frac{\partial u}{\partial z^2},$$

$$\frac{\partial u}{\partial z^2} = \frac{\partial u}{\partial z^2},$$

$$\frac{\partial u}{\partial z^2} = -\lambda$$

$$\frac{\partial u}{\partial z},$$

$$\frac{\partial u}{\partial z} = -\lambda$$

$$\frac{\partial u}{\partial z},$$

Burndary conditions:
$$u(0,t)=0$$
 $u(1,t)=0$
homogeneous
boundary conditions
Heat equation : $\frac{\partial u}{\partial t} = k \frac{\partial^2 u}{\partial x^2}$
Supporter 11, is a solution that solution for the PDF

suppose is is a souther that satisfies the TPL and the boundary condions and us is another that satisfies the PDE and the boundary condions Since the PDE is linear and the boundary cond. are homogeneous them

 $u = c_1 u_1 + c_2 u_2$

is also a solution.

Separation of variables M(x,t) = cf(x)G(t)Then is satisfies the last exception when $G'(t) = -\lambda kG(t)$ and $g''(x) = -\lambda g(x)$

Boundary condion

$$U(o_1t) = 0 = cp(o)G(t)$$
 for all t
means $g(o) = 0$
 $u(t,t) = 0 = g(t)G(t)$ for all t

preases cg(2)=0
Note, it may not be necessary for
\$(0)=0 und \$(L)=0
but this is sufficient.
Therefore we have the ODE.
$g''(x) = -\lambda g(z)$
g(0)=0 und g(L)=0
Solve it:
Case Thus $g''(x) = 0$ so $g(x) = ax + b$
Q(0)=0 means a.0+b=b=0 so b=0
Q(L)=0 means ain=0 so a=0
Thus $q(z)=0$.
and q(x,t)= Q(x)G(t) =0 and using this
solution by adding it in a superposition
is not useful
$\int dx = \int dy (x) - \sqrt{dy}(x) + \sqrt{dx} - \sqrt{dy}(x)$
q'+2q=0 substitute $cy=e$
g'= re
g"= r~e"~
$r^2 e^{rx} + \lambda e^{rx} = D$
$r^2 + \lambda = 0$ Characteristic eq.
$r^2 = \pm \sqrt{-\lambda}$
Since -2>0

General solution to the ODE is

$$g(x) = C_1 e^{\sqrt{-\lambda}x} + C_2 e^{\sqrt{-\lambda}x}$$

Boundary coordition:
 $g(0) = 0$ and $g(1) = 0$
 $g(0) = C_1 + C_2 = 0$ so $C_1 = -C_2$
 $g(1) = C_1 e^{-\lambda} + C_2 e^{-\lambda} = 0$
 $= C_1 e^{-\lambda} + C_2 e^{-\lambda} = 0$
 $= C_1 e^{-\lambda} - C_1 e^{-\lambda} = 0$
 $= C_1 (e^{-\lambda} - C_1 e^{-\lambda}) = 0$
since $\lambda \neq 0$ from
 $+\lambda = \lambda \neq 0$ for
 $+\lambda = 0$
 $+\lambda = \lambda \neq 0$ for
 $+\lambda = 0$
 $+\lambda =$

Case Do this case next time.